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72. Show that the equations
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are equivalent expressions of the Clausius-Clapeyron equation.
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73. The decomposition of dinitrogen pentoxide in tetrachloromethane at 7' =45 °C has stoichiometry:
N,0; — 2NO, +10,
and obeys first-order kinetics. From the volumes of oxygen liberated after various times ¢, the

following concentrations of N,O; were obtained:

x=[N,05]/mol dm™ |233 191 136 1.1 072 0.5
t/s 0 319 867 1196 1877 2315

Plot a graph of Inx against #/s and determine the rate constant.
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:nr:[1\12(315]/11101(1111_3 233 191 136

0.72  0.55

T/S 0 319 867 1877 2315
Inx | 0.846 0.647 0.307 0.104 —0.329 —0.598
T/S 0 319 867 1196 1877 2315
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